Dexter WCVD25KCS-12 Chassis And Drain Group 18LB, 25LB, 40LB

Dexter Commercial Dexter WCVD25KCS-12 Washer Parts Parts Diagram Chassis And Drain Group 18LB, 25LB, 40LB

Click on the part number to view part

Original Part Number Replaced By Part Description
1 9945-097-002 Base Assy,Frame
" 9945-093-002 Base Assy,Frame
" 9945-105-002 Not Available Base Assy,Frame
" 9945-087-002 Not Available Base Assy,Frame
2 9930-136-001 Tub Assy WCVD-40,
" 9930-135-001 Outer Tub Assy
" 9930-137-001 TubAssy
" 9930-138-001 Outer Tub Assy
* 9869-006-001 Tub and Cylinder Assy.
" 9869-008-001 Tub & Cylinder Assy

" 9869-007-001 Tub & Cylinder Assy WCVD-40


http://www.pwslaundry.com/c-702288-commercial-dexter-wcvd25kcs-12-washer-parts-for-repair-service
http://www.pwslaundry.com/i-6688686-dexter-9945-097-002-base-assy.html
http://www.pwslaundry.com/i-6688685-dexter-9945-093-002-base-assy.html
http://www.pwslaundry.com/i-6688635-dexter-9930-136-001-tub-assy.html
http://www.pwslaundry.com/i-6688634-dexter-9930-135-001-tub-assy.html
http://www.pwslaundry.com/i-6688636-dexter-9930-137-001-tub-assy.html
http://www.pwslaundry.com/i-6688637-dexter-9930-138-001-tub-assembly.html
http://www.pwslaundry.com/i-6688544-dexter-9869-006-001-tubcyl-assy-t300.html
http://www.pwslaundry.com/i-6688546-dexter-9869-008-001-tubcyl-assy-t400.html
http://www.pwslaundry.com/i-6688545-dexter-9869-007-001-tub-cyl-t600.html

11

12

13

27

28

29

9869-009-001
9967-009-002

9950-050-002

9545-060-003

8640-425-001
8641-582-018

9545-060-002

8640-425-001

9950-041-004

9545-060-001
8641-582-018
8640-425-001

9379-187-001
9029-052-001
9545-048-001

8641-581-018

9545-030-002

9915-118-002

9545-030-002

9242-456-001
9242-457-001
8654-117-014
9552-038-001
9242-458-002
9610-001-001
9029-077-001
9545-008-026

9732-108-002

9206-416-001
8640-399-007
9242-450-001
8654-117-008
9732-137-003

9991-056-002

9545-059-002
8640-416-005

9552-038-003

9915-118-002P

9122-005-004

Not Available
Not Available

Not Available

Not Available

Not Available
Not Available
Not Available

Not Available

Tub & Cylinder Assembly
Cradle Assy, Tub WCVD-40
Ring Assy, Tub Mtg-Front

Bolt, Top Front Ring 5/8" x 3"
WCVD-40

Nut, Hex 5/8-11
Lockwasher

Bolt,5/8 x 2 40910 Fmt Rng to Crdl
(double nuts used) WCVD-40

Nut, Hex 5/8-11

Ring Assy.Clamp Tub Mtg.- Rear
Screw 5/8-11x1/1/20

Lockwasher

Nut, Hex 5/8-11

Valve Drain before Serial # 482181
Bracket, Drain Valve

Screw 12 AB x 1/20

Washer

Screw Tube (Bracket to Base
1/4Bx3/4 )

Drain Tube

Screw Tube (Bracket to Base
1/4Bx3/4 )

Hose, Tub to Drain Valve

Hose, Drain Valve to Tube
Clamp, Hose to Vacuum Breaker
Shim, Support Assembly ( thin )
Hose, Vacuum Brkr. to Tub
Vaccum Breaker ALL

Bracket, Vacuum Breaker
Screw, Vault Mtg

Dispenser Soap

Gasket, Dispenser

Nut Spring SS

Hose, Dispenser to Tub

Clamp, Hose Vent

Back Assy, Tub 2 piece

Support Arm Assy, Bearing
Housing

Bolt, 7/160 x 20 Tub Back to Tub
Nut, Flange Lock
Shim, Support Assembly ( thin )


http://www.pwslaundry.com/i-6688704-dexter-9950-050-002-ring-assy.html
http://www.pwslaundry.com/i-6686354-dexter-8640-425-001-nut.html
http://www.pwslaundry.com/i-1396638-dexter-8641-582-018-lockwasher.html
http://www.pwslaundry.com/i-6687744-dexter-9545-060-002-screw.html
http://www.pwslaundry.com/i-6686354-dexter-8640-425-001-nut.html
http://www.pwslaundry.com/i-1396636-dexter-9545-060-001-screw.html
http://www.pwslaundry.com/i-1396638-dexter-8641-582-018-lockwasher.html
http://www.pwslaundry.com/i-6686354-dexter-8640-425-001-nut.html
http://www.pwslaundry.com/i-6686384-dexter-8641-581-018-washer.html
http://www.pwslaundry.com/i-6687716-dexter-9545-030-002-screw.html
http://www.pwslaundry.com/i-6688619-dexter-9915-118-002p-drain-tube.html
http://www.pwslaundry.com/i-6687716-dexter-9545-030-002-screw.html
http://www.pwslaundry.com/i-788102-dexter-9242-456-001-hose.html
http://www.pwslaundry.com/i-6686920-dexter-9242-457-001-hose.html
http://www.pwslaundry.com/i-6686450-dexter-8654-117-014-clamp.html
http://www.pwslaundry.com/i-8904817-dexter-9552-038-001-shim-thin.html
http://www.pwslaundry.com/i-2770735-dexter-9242-458-002-hose.html
http://www.pwslaundry.com/i-788212-dexter-9610-001-001-vacuum-breaker.html
http://www.pwslaundry.com/i-6686542-dexter-9029-077-001-bracket-vac-break.html
http://www.pwslaundry.com/i-788190-dexter-9545-008-026-screw.html
http://www.pwslaundry.com/i-127733-dexter-9122-005-004-dispenser-soap.html
http://www.pwslaundry.com/i-788090-dexter-9206-416-001-gasket-dispenser.html
http://www.pwslaundry.com/i-367203-dexter-8640-399-007-nut.html
http://www.pwslaundry.com/i-788100-dexter-9242-450-001-hose-dispenser.html
http://www.pwslaundry.com/i-6686447-dexter-8654-117-008-clamp.html
http://www.pwslaundry.com/i-6688057-dexter-9732-137-003-tub-back-assy.html
http://www.pwslaundry.com/i-6689011-dexter-9991-056-002-support-brg-hsg.html
http://www.pwslaundry.com/i-6687741-dexter-9545-059-002-screw.html
http://www.pwslaundry.com/i-6686349-dexter-8640-416-005-nut.html

